NEC MS EXAM.

N

GENERAL KNOWLEDGE (9W = J1) |

The First battle of Panipat was fought in -

TS T YAH Y el I ?

(a) 21 April, 1529 (21 2, 1529)

(b) 21 April, 1526 (21 e, 1526)

(c) 20 April, 1527 (20 e, 1527)

(d) 15 April, 1528 (15 21e, 1528)
Where did Babur die ?

AR H e FEl g3 oi?

(@) Agra (3 RT) (b) Kabul (=hTeet)
(c) Lahore (FER) (d) Delhi ( feeett)

Shivaji died in the year -

Torarstt =t g form 32
(a) 1676 (b) 1677
(c) 1678 (d) 1680

Khalsa was founded by

G & WU Hi 92

(a) Guru Gobind Singh (& Tifa< fag)
(b) Guru Ramdas (& WS )

(c) Guru Nanak (& e )

(d) Guru Arjun Dev (& 3157 )
First Indian Governor General was -
qRA & Yo TR SR/ o -

(a) Waren Hastings (aR¥ gfem™)

(b) William Bentick ( faferem afees )

(c) Mahatma Gandhi ( HgTaT el )

(d) All of these ( e weft)

Who was known as 'Lady with Lamp'?
o At Aigen’ TR wET T ?

(a) Sarojini Naidu (@RS =g

(b) Mother Teresa (HeT 34)

(c) Joan of Arc (ST Sh 31 )

(d) Florence Nightinagle (%= TEfeNe )

How many classical dances are there in

India
aRe ¥ R ynE wre Je &7
(@) 5 (b) 4

(c) 6 (d) 7

8.

10.

11.

12.

The headquarters of World Trade
Organizations is in

fava =R W W gee wEl €2
(a) Montreal (A=get)

(b) Seattle (Hee)

(c) Geneva (SHaT)

(d) The Hague ( #T)

Geeta Chandran is well known as an/a-
Ter wigT @ formen fod ST ST @ 2

(a) Bharatnatyam Dancer ( WRaAIEAH JHT )
(b) Classical Dancer ( JITEE JIET )

(c) Film Director (fren fdvmer)

(d) None of These (3udsd ¥ &I &)

Which is the oldest Veda?

T & T T Y W 8

(a) Samveda (@™aT)

(b) Yajurveda (a5ag)

(c) Atharvaveda ( AgEaT )

(d) Rigveda (#Teg)

The Aryans at first settled in -

3t % wawew et s fetg?

(a) Sindh (fder) (b) Gujarat (T[eNI)
(c) Kashmir (&¥4RX) (d) Punjab (UsTa)
Lord Buddha was born in -

TR Tg ST el ga Aq1?

(@) Lumbini (W)

(b) Vaishali (et )

(c) Bodh Gaya (sterTar)

(d) Patliputra (UrEey)

Shahjahan built the Moti Masjif at -

TTESET | Uit aftg el serg oft?
(a) Delhi ( feeett) (b) Jaipur (¥=qT)
(c) Agra (ITRT) (d) Nagpur (TT9Y)
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14.

15.

16.

17.

18.

19.

Capital of Bihar is -
form @t e -
(a) Ranchi (=it

(c) Patna (Uer)

(b) Gumla (THET)
(d) Delhi ( feeett)

'National Game' of India is -
RA ol TR B ¢ -

(a) Cricket (fsmee)

(b) Hockey (&fent)

(c) Luddoo (=)

(d) Badminton ( Srgfiie)

How many colours are used in Indian Flag-

ARG TG et ¥ fepae 17 g 872
(@) 3 (b) 4
(c) 5 (d) 2

Which country got Independence on '15th
August'?

“15 3T’ @l foRm SO T A qrE e

(a) Italy (geedt)

(b) Delhi ( feeett)

(c) India ( 9Td)

(d) Pakistan ( Utferear )

At which place 'Kumbh Mela' is organised
in 20137

2013 ¥ ‘T W' T AN Tohe g W EIM oT?
(a) Jaipur (¥99)

(b) Nagpur (79X )

(c) Allahabad (3&EEE )

(d) Patna (9eT)

What is the name of wife of 'Riteish
Deshmukh'?

o Sov@ @i et @ W e #2

(@) Gauri Khan &USIRCIED)

(b) Genelia D'souza ( fsmemar fegsm)

(c) Jaya Bachchan (&1 &)

(d) Priyanka Chopra ( fudiet =iugr)

20.

21.

22.

23.

24.

25.

What was the old name of Bihar?
TR =it QU W ar?

(a) Patliputra ( Ureeyx)

(b) Magadh (wmer)

(c) Agamkuan ( 3TTHeSAT )

(d) Patna (uer)

Who was the father of Amitabh Bachan?
fary e & fUar @ AW e ?

(a) Harivansh Ray Bachchan (&Rayr T seerT)
(b) Salim Khan ( @eitq @19 )

(c) Sunil Dutt (gfiat g7)

(d) None of These (@Ig &)

The third battle of Panipat was fought in
the year -

urrud @t foet g forg ad o gam?
(a) 1707 (b) 1757
(c) 1739 d) 1761

Which of the planets is nearest to the
Earth?

Jodt & WoW WHIU R 6 UE 87

(a) Jupiter (Ig@id) (b) Venus (ITk)

(c) Mercury (99)  (d) Mars (HeT)
Which country is the largest producer of
Silk?

e 1 W ST SR I9T HIA 6 E?

(a) Japan (U )

(b) China (=)

(c) India (¥RA)

(d) Sri Lanka ( $ft et )

Who is the Chief Minister of Bihar?
foer & qer Wit @ 82

(a) Nitish Kumar ( Sdter HAT )

(b) Mamta Banerjee (W&l & )

(c) Sharad Yadav ( ¥g 9154 )

(d) Laloo Yadav (&e] amed )
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GENERAL SCIENCE (¥ fa@me) )

1.

Valency of Carbon is -

e T HEASThdT § -

() 1 (b) 4
(c) 2 (d) 6
An alloy is -

fasreng 2-

(@) A compound (T i )

(b) An allotropic form (TR Wﬁiﬁ H)
(c) An isomer (Ts TUHR)

(d) A mixture (Te Tasgror)

Milk is a -

78 8-

(a) Mixture (Tagtor) (b) Element (d@)

(c) Metal (&mq) (d) None of These (TE &)

The father of modern chemistry is -
IR TWEA oA & fuer g-

(a) Priestley (Wreet)

(b) Lavoisier (algsT)

(c) Dalton (STe)

(d) Mendeleerf (Wgeltw)

Hydrogen was discovered by -

TESINM @i Gt fergm it off ?
(a) Cavendish (ehaf=a)

(b) Lavoisier (alEsT)

(c) Rutherford (TET®IE)

(d) Scheele (viteT)

The colour of hydrogen is -
TESIS & T R-

(a) Yellow ( dtem)
(c) Black (@hre)

(b) Orange (TR )
(d) Colourless (¥&HA)

Heavy water is used as -

TE TS T HET FEHA BT 87

(a) Washing Water (& a1t 5t ¥ )
(b) Detergent (fgzie)

(c) Drinking water (49 arel Wit o)
(d) Moderator (HIgieT)

8.

10.

11.

12.

Most impure of carbon is -

Hatfueh 975 FE §-

(a) Graphite (W)

(b) Anthracite (TITEEe )

(c) Lamp Black (T &ieh)

(d) Wood Charcoal ( FerEr T HIgeT )

The lowest layer of earth's atmosphere is-
Jedt & STATeRUT T Tad el W 8-

(a) Troposphere ( ZTUERT )

(b) Stratosphere (E2@haT)

(c) Mesophere ( WSIEhRaR )

(d) Ionosphere ( TEATRIT)

Which one of the following disease caused
by bacteria?

N N T e s
(a) Tuberculosis (TUfeeH)

(b) Mumps (%)

(c) Small pox (It U )

(d) Rabies (¥fawt)

Number of basic SI unit is -
e SI gfe & wer -

(a) 4 (b) 7

(c) 6 (d S

Light year is unit of -

TRTST I TR -

(@) Time (99H)

(b) Speed of Light ( WerTeT <iterar @t )
(c) Distance (gft)

(d) Mass (gegH )

Nucleons are -

TTHII] B R -

(a) Protons & Neutrons ( WelT Ta JeiT)

(b) Neutrons & Electrons (g T Folae)
(c) Both (a) & (b) (3 (a) T (b))

(d) None of These (%1 T)
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14.

15.

16.

17.

18.

19.

The disease AIDS is caused by
Tew Tt @ we 8-

(a) Bacteria (Sfrary)

(b) Fungi (%)

(c) Virus ( fawumuy)
(d) Protozoan ( Wiersi )

Carrote is a

TSR B4l & -
(@) Root (Tg) (b) Stem (@)
(c) Fruit (weT) (d) Flower (%&eT)

Number of arm found in octopus -
eI & T g B € ?

(a) 4 (b) S

(c) 6 (d) 8

The bones of birds are -

uferEt w g o ¥ -

(a) Strong and Solid ( I<Ed TF 31 )

(b) Soft and Solid (Tt Td 31 )

(c) Pneumatic and light ( aTa&ta Ta goent )
(d) Calcaveous and heavy (¥ eR Td WRT)

The largest living bird is -
Hod wer Sifera el 27?

(a) Kiwi (@tet)

(b) Penguin (¥T)

(c) Ostrich ( ITaH)

(d) Eagle (a1<1)

Number of chambers found in the heart of

whale -

3 & Tea | fora yars T €7
(a) 2 (b) 3
(c) 4 (d 1

20.

21.

22.

23.

24.

25.

The hardest part of human body is -
TS PR T TEH IR AT §-

(a) Bone (&s3)

(b) Palaque ( weTeR )
(c) Enamel (Edace )
(d) Skull (@UE)

Normal temperature of human body is-
MG IR T AT AIOHT 8-

(a) 40.5°C (b) 36.9°C

(c) 98.4°C (d) 82.4°C

Animals and plants that live in water are

called

9 TE e W 9ol ¥ @A § F e -
(a) Wet ( &fiTm)

(b) Aquatic ( STeTeRIST)

(c) Aquamarine (%)

(d) Aqua (1)

The Sun is a -

TR -

(a) Producer of Water
(S @ FwtoTeRat )

(b) Secondary source of Energy
(3t @ fgefta o)

(c) Primary Source of Energy

(T & TAT H)
(d) None of These (¥ 7&)

Study of fish is known as -
TS o TSI ol T AT B~
(a) Isthology (Teerst )

(b) Entemology ( 3=HaTST)
(c) Herpetology ( gUeratstt )
(d) Fishology ( fwemnatstt)

The first Indian made computer is -
wra # e wom st 3

(a) Aryabhatt ( 3mEsee )

(b) Super 1000 (W= 1000)

(c) Super 100 (9™ 100)

(d) Siddhartha ( faget)
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MATHEMATICS ( TTfuTa ) ]

1.

Find the cube root of 2744

2744 T TTHA A A
(a) 14 (b) 16
(c) 17 (d) 24

If y = 5, then what is the value of 10y? +y + 1
R y=5¢8d 10y +y + 1% UM @ &I
(@) 256 (b) 257

(c) 347 (d) None of These (%1 T)

The sum of two number is 216 and their
H.C.F. is 27. The number are :

A FERl W WS 216 § AR WA, 27 & @ oM

W 1
(@) 81, 189 (b) 27, 189
(c) 108, 108 (d) 154, 162

Find out the H.C.F. of 1134 and 1215
1134 Q9T 1215 1 TH, Fd &

(a) 81 (b) 164

(c) 36 (d) 23

Worker A takes 8 hours to do a job. Worker
B takes10 hours to do the same job. How
long should it take both A and B worker
together to do same job?

A Tt o @y 8 Her ¥ YU FAar €1 B IH % @
10 W ¥ YU I 1 A A 3T B I W wW R
fory et & T

4 9
@) 43 b) 7

6 .
(c) 62 (d) None of These (%1 T)
G
V45 /63

@Y% m% © Y% @ %

Find out the value of a when 4a + 9b = 28
anda+b=2

a & WM AT e 4a + 9b = 28 @AM a + b = 2 {1
(@) 8 (b) 6 (c) 4 (d)2

8.

9.

10.

11.

12.

13.

A man bought Toffees at Rs. 28 and sold it
Rs. 40. What percent of profit he get on
toffees?

s e diheie 28/- &, W Wlear ¢ iR 3@t
ieheic ol ol Sl 40/- &, § sl & af 3§ e
gfeera @rw g?

50 420
@ < (b) 4=
(©) 4270 (d) None(w )

A car is running at a speed of 108 km/hr.
What distance will it cover in 15 secs.?

Teh &R 108 TeR.T, wiveer &t Tor @ ot € @ 15
Yohg o fohart g 7 w2

(a) 540 Meter (HreX) (b) 460 Meter (HET)
(c) 450Meter (WeT) (d) None of These (& T)

V625 +4/100 +121="7

(a) 64 (b) 46

(c) 56 (d) 66

Find the diameter of the circle. If ares of
circle 154

I T G @ R TR Q%A 154 €

(@) 16 (b) 17

() 7 (d 14

Find the area of triangle, if base is 24 cm
and height is 36 cm

B & §AFe F@ W IR IMUN 24 WA, 3
e 36 T, BN
(a) 432 cm? (AH.?)
(c) 546 cm? (AH.?)

(b) 342 cm? (AH?)
(d) 646 cm? (AH.?)

13 1
Find out the L.C.M. of 2’7 & 5
12 e ] =
4’7 Wa g, Ad |
(@) 5 (b) 3
(c) 6 (d) None of These (@1 T)
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14.

15.

16.

NEC MS Exam (Page-6)
How many secs does Aditya take to covera 20.
distance of 400 m, if he runs at a speed of
50/9 m/sec.
3T 3 50/9 W, UTq Tehs TN | e &

A A 400 TieT ®i T 7 A W fora Wahve w?
(a) 42 Sec. (V) (b) 72 Sec (¥.) o
(c) 46 Sec. (R.) (d) 36 Sec (R.) '
Circumference of a circle is 88 m. Find the
radius of circle.
T o fowant uRfer 88 . & @ swem P @ a1
(a) 28 Meter (|.)  (b) 44 Meter ()
(c) 14 Meter (W) (d) 16 Meter (T.)
1,
0.04

T 2
@ 4o b 5 23.
(c) 2.5 (d) 25

17.

18.

19.

1
Find the simple interest on Rs. 600 at 6%/7
annum for 6 years.
600 &, T 6% ek TS St ST | 6 TuT < WILWIT
S T L ?

(a) Rs. 500 (%.) (b) Rs. 400 (%.)

(c) Rs. 100 (%)  (d) Rs.216(%.) 24.
9 [1 [1 (5 1 1}
e e e T e
20 {5 {4 6 3 2
(@) 5 (b) O
(c) 4 (d) -1
25,
180 x15-12x20 _,

140 x 8+2 x 55

(@) () %

(c) 4 (d) None of These (%1 T)

What percentage is Rs. 500 of 20% of 15%
of 10%?

500 %, <Al 20% <Al 15% <Al 10% <=1 %ﬁ"'IT?
(a) 225 (b) 150
(c) 25 (d) 3

Find the cube root of 4096

4096 T TGS T H|
(@) 15 (b) 12
(c) 14 (d) 16

The average age of 10 students is 17, then
the sum of their age is

10 B Y a3 17 9 ¢ @ I 3T w1 A
Frenret|
(a) 64
(c) 170

(b) 84
(d) None of These (7 7&)

If Ram purchases a car Rs. 40000 and sold
it Rs. 20000. Find the profit or loss on the
car

Ifg T wR 40000 ¥ GGEHT 20000 &, ¥ Serar &
gfaera 9 a0 T aard|

() 40% (b) 50%
(c) 20% (d) 60%
If S ﬁ th i It
1/256 og then nis equal to
n 44

L 2
T\ oeg 24a‘rnaarmwgﬁ7rr.
(a) 108 (b) 324
(c) 840 (d) None of These (T &)

If 4/6 part of a number is 32 what will be
6/7 part of the same number?

forelt W &1 4/6 WO 32 B A SH W@ H 6/7
o Rt BIm?
(@) 40
(c) 60

(b) 50
(d) None of These (¥ 7&)
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ENGLISH ( 351 ) ]

Write an essay on any of the following in g
200 words. (4 Marks)

(a) My Family

(b) My first train journey

Write an application in 150 words to your
Head Master for granting 7 days leave for
your brother's marriage. (3 Marks)

Write the synonymus of the following.

(2 Marks) 8
(@) Arrival
(c) Borrow

(b) Accuse
(d) Behaviour

Write the Antonyms of the followings.

(2 Marks)
(b) Secondary
(d) Famous

(a) Secret
(c) Tribute

10.

Fill in the blanks with the appropriate
preposition (2 Marks)
(@) She has been blind ....birth.

(b) She is married ..... Rakesh.

(c) She jumped ........ the well.

(d) Mukesh travelled ....train.

Give the plural form of the following words
(2 Marks)

(b) Volcano

(d) Lily

(a) Company
(c) Topaz

Write one word for the given group of words
(2 Marks)

(@) To escape from hard realities.

(b) That which is pig like.

(c) That which is dog like.

(d) The study of insects.

Give opposite of the followings
(a) Profit (b) High
(c) Day (d) Despair

(2 Marks)

Correct the followings

(a) Speak truth

(b) Honesty was the best policy
(c) She is wise

(d) Man was mortal.

(2 Marks)

Translate into English
(a) T Shel Thet ST
(b) ST TR &g &

(c) T Fe g @ R
(d) =T 3 S® ot o= R
(€) T ¥ et WA BISH T el Torar &1
(f) et § wTH gt I E)

(3 Marks)
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HINDI ( f&=i) ]

1.

frafefaa & & fadt ©e W 100 o=l W el fod
(4 3fh)

(a) T 3rEAUR

(b) W ferrerat

3T YTEATIe: & U 150 Vegi W q&deh Well § S

H 3Ala ¥ T oaed uF fag (4 3i®)

3 U & T ¥ AT AR W FEd -
(2 %)

&, Wiy T

T, SuE R

Frafafaa ae= & g w0 (2 37R)

%, § 3 for@s @t e

@, o wEl W R?
T. 39 foae & T 9ga #/B T
¥, T SNUH @ HEAT e ol

frfafEa vl & d-d geigaret see fad
(2 3f®)
g 39

&, T
T, IRy q, @

Frafafea v ogEl & fod ©= o o
(3 3f)

=, e wum gEw 7

T, W @ 9 T gl

T, 5@ gt T W "

. S fo gEm em g

Frfafea qere) @ atd s (2 3f®)
%, GF Grer @, TET 3B

T HwE W T ¥, 305 @

71 o8l o are wEm g fen ot &\
(2 3f®)
&, fe

T, 3T

T, o
q,

e @ wfa-fassg &
F, TSN
T, T

(2 3®)
@, i
¥, ¥ard

. Tafatea dfem@l @ 9@ 50 v | W W

(3 =)
gige 9gr St W T @
T T T a1 TE v



